g T s m Ei
http://farbe.li.tu-berlin.de/ CESO/CESOLON1.TXT /.PS | /
f% N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1 /N
) = = | [CETB IS - awa —oE \Z
contrast (Y/dY) and sensitivitydY/Y) dYand CIE contrast sensany(VmV) ‘mination dY and
=0 LABIND lightness for all colours L, =50 fo Y,<18 cleLAB s e o -, 100 SRGB-iangl ightness forachromaticcolours: W e s st 2 4
8o RS Yocioo v 1) e ge " (he100, v 1) e omomason 100 (A (oe100) a0 00 1), @, o) B
i For the grey discriminaton we ger :mmeweya.scnmmamnweue For the grey discrimination we get: Forthecscimination e et 3@
Se QY = (1164, (1) () 2 QLY = (16Hy) (113 v homan o (2.0 U424 0.2 ™ oY - (V2.0 WV 2 042 O | o O
o3 aor =L et st veca i andfor L= (about 3 resholds) e can e o s (2ot el wecan e o o 2ot o) vecan e 20
& = /116) (¥/Y,) dy= (Y, "‘yns; 4«N 4 (V1Y) Jrazd :'(‘Q.
542 o \ag(ﬂ\(i 10g(3 /,/116)) + (2/3) log{/Y,) o log(dy) = log(3, "3/116) + (213) log¥) or mmuv 100(2.4) + (1.412.4) 100(1Y,) o \aq(d\( |oa(u)’u‘4/u)\ao(/vn) on
=y therefore in a log-log diagram the slope is (23). therefore in a log-log diagram the slope is (23). therefore in  log-log diagram the slope is 1,4/2.4. therefore in a log-log diagram the slope is 1,4/2.. S 3
S| o i convastsenstity, andfor oL~ vl | | o e IEconst sensovy g s I th CIEcanvgst ey, ng o s o G o i s o2
30 YIdY= (113) (116,) (YY) YidY = (U3) (1161, Yidy= (v, "7 92,8) (v1v,) V24 Iay= 92, =0
BE | orrm=aam aion) <09 e o tog(via)= log( (1) mm*ﬂn w3y ogt) o Top ot e+ 24 gty o ooV = a4 + 2ot 33
= = = @
M xe} =y = o = N
o
RS e s s ncionof e YRG0 i gelginsst s son oG T T T %3
Z3 coordinatesL* and Y for achromatic colot coordinatesL* and logy for achromatc colours coordinatesT* and Y for 4 w coordinatesT* and logY for 4 coloursW (=N
ksl g (o 39
<] ) 957 ™
£ 8 38
g_ é z Lo S g
g5 CIELAR s o ( i sQ
5‘ L = 116 (1v) R - 16 s fis0. 489" L AT, -0
=% (ym100,51) W @
voZ3 Py G 25
e S
] % o Mm
o) <8
=]
am e
=3
g 8 (GIELAB lihiness logL* as funciion of logY 10gD, loglAYIAY,] relative CIELAB trstmulus IECERGE tange Ihnes g s uncn of logD, = logAYIAY, eliive IECSRGS tistmuls vaive aiere QRS =4
S5 coordinates og-*and ogYfor achromtic colours coordinates logd, and logY for achromatic colo coordinates logi™ and logY for 4 coloursW. o e e ==
Zm ! CIELAB il vl difrence: ) 1ECSRGB tistmlus valye difer o
29 a(Y, " 3116 ) ¥ t2at <
=2 h,()un >1) 4
g 2
sd g
Q (7]
= =
g -
3 &
o oIS, = og Y)YV el
| 8 courdinates logs, and I 3
2
[
5
m:amm 8
50,10 =3
o I @
myg:mmn 11
- S
TUB-test chan CESO Special colorimetric propomes for colour vision and image technology
Comparison CIELAB and IECSRGB coordinates, lightness & triangle lighness, contrast and s
T o v T T




